FR 3 OSFHE 6 DENEEBRRUBRE

HEIEESHIILE
=R ER30&E5A26A (1) 2-3% 800m 0.56.0| B & 1400m | 1. 36.
ErEiRFT RERN —=5 5 — 2 & 1400m 1.39.5| A # 1400m | 1. 36.
3 & 1400m 1.38.5
x & & c #& 1400m 1.37.5
RiBRE B
BEAEK 14 B8
BREAK 14 BB . BHBEZEDI—R (11100m)
800m ] 1400m
G ]
— % #
25| BRI ZIEIRE B & |f|Fo5x HTE | BEE4 | RGE| 5L | BB (B F
= 7l | %l
1 | IRS—AF/3% |[$|2| 2 R | BN | 450 54.2 4 a1
2 | Y/ZYTY 2| 2  E | ErEAN) | 417 54.1 2 &
1 g |29
. g o | al| 3 |TOFF—% (3| 3 | & ¥ | WF(E) | 439 | 537 1 &
o|o0
4 | AEY—BALY— |4|3| 38 R & Z H 480 54.1 3 a8
5
1 | TLIRYA—> 12| 2 S HF | T (E 426 48.7 1 ok
2 | Fq1a47 (2| 2 |MEE| ®|E 446 49.8 2 e
9 8 9|9
n g 2 ; 3 | 7HrEYT 2| 2 | & B | #HEGE) | 417 | 531 3 &%
5|5
4
5
1 | SYFo10T 12| 2 F 8 A H 415 53.3 4 a1
2 | E—=F+IbkyF 12| 2 5 # A H 424 51.4 1 &%
N 8 9|9
0 3 5 3 | F5ARN—} %2 2 | X | HFEE 364 | 516 3 Y
w1 0 1glo
4 | RALARYHZ— 2| 2 R &8 HFE 447 51.6 2 &
5
1 |BI5e—F 12| 2 5 # 7 R 503 53.7 1 &
IR VAV WA e 2%/} 12| 2 X " R 367 53.8 3 &
4 g |29
0 3 5 3 (=YTeudL 2| 2 | kewr | & B 395 | 538 2 &%
-4 0 5 | 5
4
5




